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Cost Accounting
Time:- Three Hours ] [Maximum Marks: 75

ffiffi-fr
Note: Answer all questions. All Question carry equal marks.

Eor{-r Unit-I
ann d aeq t enq eqr rrrrfr t? arw d Wq fll ol ca-ar{C oen e-€ we o1fuq t

What do you understand by element of costs.? Cive the main classes of cost and explain them.
3lQrqr/OR

ftq H{ot 6 61n sH q-€fr 3rr{rfr gc €R d-wq e-qrsc t

Prepare store ledger account as per FIFO method from the following data.
t+tqfi crM' qrErfi FrrfTr

(Receipt of materials) (material issued)

frfu {o-r{qT drrkl (t fdE
(Dare) (units) (vfr {6-r{) (Date)

qqtrro ts
Opening Balance

{6r{qr
(Units)

April l,2016 1000 5

April 3,2016 5000 6
April 12,2016 3000 5

7 srla zoro S fuc w HrHk6 Rio. ylq fr rso gorlqr o-q qrff ,rff 
t

The weekly stock taking on April 7, 201 6 showed shortage of I 50 unis
E6'r$-2 Unit-il

2. ffifu( tnr ttqsr{g:- Explain the following.:
(a) ft-o-qff slrtvr tt"T Economic order quantity

April 4,2016 3000
April 6,2016 2000
April 15,2016 1500

(b) '3r' 'E' 'tr' lffiqur A, B, C, Analysis
SIer4Ir/oR

ffifun r{dot t ftfur q{ftr ht qyi-n Errdr (r sro olfuq t

From the undernoted data calculate the machine house rate of a milling machine.
qqft{ d drrfl cost of machine
or-q*rs T@ Scrap value
qcft{ 6r ergqTE( d-fi ihrd Estimated life of the machine I 2 Years
qftrq{ ord{ft-fl ft-{q Working days per year 200 days of8 hours,

I 00 days of 6 hours

s 30500
E 2500

Maintenance and repairs:- 7 .5Yo of the Cost of machine

eRfl-r +1 aFrd 61 7.5% )
Store issued 1000/-

3rSqHUI E qtr{rd

di Frrfft(
$fu gq'ttrT

frqr qfrcrd
Power consumption
lnsurance premium

2/- per operative hours

I oZ of cost of machine
(q.{i-{ d orro or r% )

ffiaw (oo ufr oS) supervision (Expenses per year)

fi{qTFfd Erd {{rq Idle time estimated

o-d Hr[fi - qnfr{6 rd-o (Openingstockof rawmaterials)
6d Er{fr 61 3iftq reto (Closing stock of raw materials)

'7500t-

10"/"

Eor$-s unir-ttI
3.ftqfrfuo srio.s\ t e{ zoro d ftc m5-dy dq tqffiq 6qff or Errrkr s drq fd-dwr - qa tqn o1fuqt

From the following data Prepare a cost and profit statement ofpopular stove manufacturing company for the year 2010:
s.

10000

5000

I 5000
r0000
5000
72450
30000
I 0000

ftffi6 qra or cr<trro d-+' (Opening stock of finished goods)

od qrqff 6T rq
q'r{€Tfl qII

ffi
orrt*rfl ru-qfr
zFfrlrtrq a[rII

(Purchase of raw materials)
(Factory expenses)

(sale)

(Factory wages)
(Office Expenses)

ftFla qra fl 3ifrq {+6 (Closing stock of finished goods) r 2000
qd zoro li soo dq inr siltE;r Eg{l s{ 20il i[ 20oo {ifs zht tPd tg a.q-fi 6} oiTd {dI-fr tt q-{f,rfff, rdE ro fr

fu-qqFrqf"rdtmn.roq{df{Ftdr.<}sdwqntq-*gsrrrff+1 trr.mlso/otcrerT?Frralrfl+Tqddrrralo%tT6Tfr
t r er.ro q{ gq dpr E r rE cfrErf, +{r t qt zoro d crq o1 ,lfr efi I q6 qmi gq fu sqftq-dt dt qft {6t{ dFro rrf, s{
ffi fr d,ft e-{drF{d Xgu <vrf-i gq ld-q-wr- qa *qn aflfuq r

500 Stoves were manufactured during the year 2010. Company has to quote for the supply of 2000 stoves in 201 l. the
proposed stoves are ofunifonn quality and make similar to those manufactured in the previous years but the cost ofmaterials has

increased by l5o/" and the cost of factory labour has increased by ll%t the same percentage of prolit on cost as realised during

l.



2010 has to be eamed, Assuming that the cost per unit of over heads remains the same as in previous year prepare a statement

showing quotation price.
srettn/oR

ffifu( ry ftqpr+i olfug:- Write shortnores on:

1a) gtr srdqrur
(b) qr( 6d

Escalation clause

Work in progress

{6r{-a Unit-IV
4. ro Frqffi *iwn 6l ssrqq d ftffii'sr' slh'q' tt aYo-< rSwror t ftr d-qR r+6 d uril tt {6 qr(q B fo d-d
frDrqt n ea rym qT( 6-1 5% 5q fr oror t *{ l0"/di-qtrs a-+or i' d 'gt' *q 'q' ftfudi ot iE-rI{I: 80s cfr st dPfl zoot
yfr rc ft-f,dr tr

The Product of a manufacturing concem passes through two process A and B and them to Finished stock. It is

ascertained that in each process 57o ofthe total weight is lost and l0% is Scrap which from process A and B Realises

80/- per ton and 200/- par ton respectively.
dI frtud d ritr6 Fq B:-
The following are the figures relating to both the processes.

frfu'3r'
process A

wqrn F-d n) [Materials (ton)] 1000
vr{Fn d aFro (cfr dr E t) 125

[Cost of materials Rs per ton]
Eq-(ft (F) (Wages (ts) 28000
ffiv1 qq (s) Manufacturing expenses (s) 8000

ser{c (-+ l) [Output (ton)] 830
frB qri dqn olfuc .il <iql frfudl sn sfr e{ dr.rd a-arqr ftrS ft ftfu n or{ do rfr ortr

Prepare process cost account showing cost per ton ofeach process there was no stock in any process.

orerfl/OR
cR-qmn ETra ftrt orfr tr s{-d irfl vtru Sz si fr{eTBTt d qrq carEg, fuc{ {fl tft or u-q}'r fu-qr qrf,r tt
What is operating cost? What are its objecs? State the undertaking where it is to be used.

Eod-s Unit-V
5. fc{nd ft d 3Tms ftq v5p f:-

The record of Nishant Ltd. are as following.
20t I 2012
s6

fum-q (sales.) 345000 390625

ed dFrd (Total cost.) 312500 321250
tn +tfug:- Find out
(D dFI qrdr 3rjqrd (Profit value ration)
(ii) furt eq (Fixed cost)
(iii) sq- fd< fug (Break -even point .)
(ir) i,so,ooo s of M w ar,r qr 6rfr

(Profit or Loss on the sales ofRs 1,50,000 .)
(r) 8,oo,ooo E. ol l{+1 w anr

(Profit on the sales of Rs 8,00,000)
3{QfinlOR

sr.ra tqioc ael ffiq drfr5-q 6 qRunril A er<r d 6n"il oi wq olfuC \16 6rflF-6 qqnrn fu+<"r- q-: tqn atfu( r

State the reasons for disagreement between the costing and financial results. Prepare an imaginary reconciliation statement.

frtr'q'
process B

'70

200

10000

5250
780


